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GCSE in Mathematics B

Modular 2544 

Unit 2 Handling Data

Practice Paper A 

Foundation

(Calculator and Non – Calculator)
Foundation – Section A – Calculator

1.
Emily wrote down the number of hours of television she watched each day for seven days.
The bar chart shows this information.
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(a)
On which day did Emily watch the least number of hours of television?

…………………………

(1)

(b)
Write down the number of hours of television she watched on Wednesday.

…………………………

(1)


There were two days on which Emily watched the same number of hours of television.

(c) Write down the names of these two days.

……………………………….. and ………………………………..

(1)

(Total 3 marks)
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2.
Daniel carried out a survey of his friends’ favourite flavour of crisps.


Here are his results.

	Plain
	Chicken
	Bovril
	Salt & Vinegar
	Plain

	Salt & Vinegar
	Plain
	Chicken
	Plain
	Bovril

	Plain
	Chicken
	Bovril
	Salt & Vinegar
	Bovril

	Bovril
	Plain
	Plain
	Salt & Vinegar
	Plain


(a)
Complete the table to show Daniel’s results.

	Flavour of crisps 
	Tally 
	Frequency 

	Plain 
	
	

	Chicken 
	
	

	Bovril 
	
	

	Salt & Vinegar 
	
	


(3)

(b)
Write down the number of Daniel’s friends whose favourite flavour was Salt & Vinegar.

……………………..

(1)

(c)
Which was the favourite flavour of most of Daniel’s friends?

……………………..

(1)

(Total 5 marks)


3.
80 Year 12 students each study one Science.
The table shows some information about these students.

	
	Biology
	Chemistry
	Physics
	Total

	Female
	18
	
	
	47

	Male
	
	
	19
	

	Total
	
	21
	33
	80


(a)
Complete the table.

(3)

One of these students is picked at random.

(b)
Write down the probability that the student studies Physics.

…………….…….

(1)

(Total 4 marks)


4.
Siân wants to collect information about the different ways in which students travel to school.


Design a suitable data collection sheet that Siân could use to collect the information.

(Total 3 marks)


TOTAL FOR SECTION A:   15 MARKS

Foundation – Section B – Non-calculator

1.
Here is a pictogram showing the number of tennis players who played at the local tennis club last week.
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(a)
Write down the number of tennis players who played on

(i)
Tuesday,                                                                                         …………………..

(ii)
Wednesday



                  …………………..

(2)


On Saturday 20 tennis players played at the club.

(b)
Show this on the pictogram.

(1)


On Sunday 13 tennis players played at the club.

(c)
Show this on the pictogram.

(1)


Tim thinks that the average number of tennis players who played at the club each day last week is 7.

(d)
Explain why Tim cannot be correct.

...............................................................................................................................................

...............................................................................................................................................

(1)

(Total 5 marks)


2.
Here is a fair 4-sided spinner.
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The spinner has four sections numbered 2, 4, 6 and 8.

The spinner is to be spun. It will land on one of the sections.

On the probability scale below mark, with a letter, the probability that the spinner will land

(i)
on 2 (use the letter A),

(ii)
on an odd number (use the letter B),

(iii)
on a number greater than 3 (use the letter C).
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(Total 3 marks)

3.
Kevin buys one raffle ticket.
A total of 350 raffle tickets are sold.
One of these tickets will win the raffle.
Each ticket has an equal chance of winning the raffle.


Write down the probability that Kevin’s ticket will win the raffle.

…………………………..

(Total 1 mark)


4.
Mark recorded the number of e-mails he received each day for 21 days.


The stem and leaf diagram shows this information.

	Number of e-mails

	0
	4
	5
	5
	6
	7
	7
	8
	9
	
	
	Key

	1
	0
	1
	2
	3
	3
	4
	6
	7
	8
	
	2(6 means 26 e-mails

	2
	0
	1
	3
	6
	
	
	
	
	
	
	


(a)
Find the median number of e-mails that Mark received in the 21 days.

..............................

(1)

(b)
Work out the range of the number of e-mails Mark received in the 21 days.

..............................

(1)

(Total 2 marks)


5.
The scatter graph shows some information about six new-born baby apes.


For each baby ape, it shows the mother’s leg length and the baby ape’s birth weight.
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The table shows the mother’s leg length and the birth weight of two more baby apes.

	Mother’s leg length (cm)
	50
	65

	Baby ape’s birth weight (kg)
	1.6
	1.75


(a)
On the scatter graph above, plot the information from the table.

(1)

(b)
Describe the correlation between a mother’s leg length and her baby ape’s birth weight.

………………………………………………………

(1)

          (c)
Draw a line of best fit on the diagram.

(1)

A mother’s leg length is 55 cm.

(d)
Use your line of best fit to estimate the birth weight of her baby ape.

……………………kg

(1)

(Total 4 marks)


TOTAL FOR SECTION B:   15 MARKS

Mark Scheme Paper A   

Modular 2544 Unit 2 = Data Handling

Foundation – Section A – Calculator

1 (a) 
Tuesday

   (b)
2 ½     (accept 2.4 to 2.6 inclusive)

   (c)
Monday and Sunday

2 (a)
	Flavour of crisps 
	Tally 
	Frequency 

	Plain 
	    llll   lll
	8

	Chicken 
	    lll
	3

	Bovril 
	    llll
	5

	Salt & Vinegar 
	    llll
	4


   (b)
4

   (c)
Plain

3 (a)

	
	Biology
	Chemistry
	Physics
	Total

	Female
	(18)
	15
	14
	(47)

	Male
	7
	6
	(19)
	32

	Total
	25
	(21)
	(33)
	(80)


   (b)
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4

	Type of Travel
	Tally 
	Frequency 

	Walk
	
	

	Bus 
	
	

	Car
	
	

	Cycle
	
	


Mark Scheme Paper A   

Modular 2544 Unit 2 = Data Handling

Foundation – Section B – Non-Calculator

1 (a)
(i)   12
(ii)   10

   (b)



   (c)

   (d)
There was never less than 8 players on each day so the mean cannot be less than 8.


2

      B               A                                     C
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4 (a)
12

   (b)
22

[image: image9.wmf]Baby

ape’s

birth

weight

(kg)

1.8

1.7

1.6

1.5

1.4

40

50

60

70

Mother’s leg length (cm)

×

×

×

×

×

×


   (b)
Positive

(c)   Line

(d)   1.645 kg   (follow through from their 

                                                                                                                                  line of best fit)

Represents 4 tennis players
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